
  )  ا  (ا��ورة ا�و�
 2��ض 	��وس ر�� 
 ......................................................................................................................................ا������ ا�ول

13  :أ��� )1 5− 13  ؛  + ( 5)− + 13  ؛  − ( 5)+ 7  ؛  − 24−  
10 ( 10)− 17  ؛  − 22 41 22+ − −  

)  : �� أ���أزل ا��
اس )2 ) ( )14 59 33 28 (46 59) ( 33 28 5)− − − + − − + − + − 

 0,35    ؛     2,8 ؛      −2,65     ؛   −1,5       ؛   2    ؛     −3   :ر�� ��ا���� ا���اد )3

��رج و����  )4 ������  !� "��&% ا���اد ا$��#[ ]OI '�(# 1cm=OI 

����  .....................................................................................................................................ا������ ا�

�!"    ( �ACB: أ��� )1*�  )#�ون 

�!"    ( �EFC: أ��� )2*� )#�ون 
����  .....................................................................................................................................ا������ ا�

    
  

  AC=4cm و AB=3cm: 0/�.- أن
�4 ا$23% ا1$!
ن )1(� .أ��� 
  .أ��� ����" ا$23% ا1$!
ن )2
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